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Name: __________________________________



1
For the system shown below, what is the value of z?

[image: image1.png]3x-4z=2

Ix-y=16




	1)
	5

	2)
	2

	3)
	6

	4)
	4



2
Consider the system below.

[image: image2.png]x+y+z=9

x-y-z

x-y+z=21




Which value is not in the solution, [image: image3.png]


, of the system?

	1)
	[image: image4.png]




	2)
	[image: image5.png]




	3)
	11

	4)
	4



3
Consider the system of equations below:

[image: image6.png]



Which number is not the value of any variable in the solution of the system?

	1)
	[image: image7.png]




	2)
	2

	3)
	3

	4)
	[image: image8.png]






4
Which value is not contained in the solution of the system shown below?

[image: image9.png]a+5h-c=-20
- 5b+4c = 19

a-Sb-5c=2





	1)
	[image: image10.png]




	2)
	2

	3)
	3

	4)
	[image: image11.png]






5
What is the solution for the system of equations below? 

[image: image12.png]



	1)
	[image: image13.png]




	2)
	[image: image14.png]




	3)
	[image: image15.png]




	4)
	[image: image16.png]






6
Consider the system of equations below?

[image: image17.png]x-Jy+22=10

x4y +





What is the solution to the given system of equations?

	1)
	[image: image18.png]




	2)
	[image: image19.png]




	3)
	[image: image20.png]




	4)
	[image: image21.png]






7
Solve the following system of equations algebraically for all values of x, y, and z:

[image: image22.png]x+dy+iz=45
-3y + 22 =-10
x4+ 3y+ 8z=T2






8
Solve the following system of equations algebraically for all values of a, b, and c.
[image: image23.png]@+ 4k + fic = 23
a+bic=2

6b+2c=a+ 14






9
Solve the following system of equations algebraically for all values of x, y, and z:

[image: image24.png]x+y+z=1
2xedy+tz=2
1

x4 3y- 5






10
Solve the following system of equations algebraically for all values of x, y, and z:

[image: image25.png]x-2y+5z=3

—axay+z





11
Solve the following system of equations algebraically for x, y, and z.
[image: image26.png]Ix+dy-lz=12
-2+ 2z=

—xey-3





12
Seth has one less than twice the number of compact discs (CDs) that Jason has.  Raoul has 53 more CDs than Jason has.  If Seth gives Jason 25 CDs, Seth and Jason will have the same number of CDs.  How many CDs did each of the three boys have to begin with?

1
ANS:
4

[image: image27.png]3r—(-2x+ 14) = 16
5x=10

x=6



  [image: image28.png]3(6)-4z=12
~4z=-16

z=4




REF:
011803aii

2
ANS:
1

[image: image29.png]x+y+z=9

r-y-z

E3




  [image: image30.png]4-y+z=21

—y-z=-5
y+z=17

—y=12



  [image: image31.png]4-f+z=0




REF:
012018aii

3
ANS:
2

[image: image32.png]x+y-z=6
“x+dy-z=17

Sy-27=123



  [image: image33.png]Zx+ly-2z=12
2=y +22=

Sy— 4




  [image: image34.png]


  [image: image35.png]Sy - 2-4)=123
sy=15
y=3



  [image: image36.png]x+3-(-4)





REF:
061923aii

4
ANS:
2

Combining (1) and (3):  [image: image37.png]~6c = -18



  Combining (1) and (2):  [image: image38.png]Sa+3c=-1
Sa+3(3) =1
Sa=-10

a=-2



  Using (3):  [image: image39.png]~(-2)-5b-5(3) =2
2-5h-15=2

B=-3





REF:
081623aii

5
ANS:
3

[image: image40.png]x+y+z=1




  [image: image41.png]


   [image: image42.png]Zx-y=-1

2= 1y =-22
10y=20
y=2



   [image: image43.png]X+2+4z2=2




   [image: image44.png]


   [image: image45.png]



REF:
062311aii

6
ANS:
2

[image: image46.png]Ix+dy-2z=1
~x=Jy+2=0

x4y



  [image: image47.png]x-dy+2z=0
4x=By+22= 20

Sx-5y =20

x-y



  [image: image48.png]


  [image: image49.png]I+2y-z=
6-dy+2=10

y+z=4




  [image: image50.png]



REF:
062208aii

7
ANS:


[image: image51.png]fix—3y+2z=-10
-2+ Yy iz=T2
4x4 10z =62



  [image: image52.png]x+dy+iz=45

-3y + 22 =-10
Tx+T=35
dx+dz=120




  [image: image53.png]Ax+ 10z = 62
4x+dz=20
=42
z=7



  [image: image54.png]Ax+4(7) = 20
4x=-3

x=-2



  [image: image55.png]6(-2) = 3y + 2(7) = -10





REF:
spr1510aii

8
ANS:


[image: image56.png]@+ 4k + fic = 23
a+dbic=2

2b45c=21




  [image: image57.png]a+lb+c=2




  [image: image58.png]B+ 3c = 16
85 + 20c = 84
17 = 68
c=4



  [image: image59.png]2b+5(4) = 21
w1



 [image: image60.png]a+4[%]+ﬁ(4): 2

a+2+24=23

a=-3





REF:
011933aii

9
ANS:


[image: image61.png]x+y+z=1

xeyi




  [image: image62.png]X+y+z=




  [image: image63.png]x+y+z=1

x4+ Jy-5z= 11
dy-dz=12
y-z=3



  [image: image64.png]


  [image: image65.png]


  [image: image66.png]1




REF:
061733aii

10
ANS:


[image: image67.png]dx+fy—8z=-2
4x- 8y + 2z = 12
“dxsy+z=16



  [image: image68.png]Ax+ fiy -8z =2
Axty+z=16
T-T=14
y-z=2

+2




  [image: image69.png]Ax— By + 20z = 12

Axty+z=16
~Ty+212=28
y-i=

-4




  [image: image70.png]z+2=3z-4




  [image: image71.png]


  [image: image72.png]—4x+5+3 =16





REF:
081833aii

11
ANS:


[image: image73.png]Zx+dy-iz=12
2(3x-2y+ 22 =
A-x+y-3z




   [image: image74.png]Zx+dy-iz=12
x4y +4z=-18

Ax+dy-122=0




  [image: image75.png]


   [image: image76.png]J2x+4z=-24

33x=-33




   [image: image77.png]


   [image: image78.png]



REF:
082335aii

12
ANS:


Seth=101, Jason=51, Raoul=104.  [image: image79.png]r=j+53
5-25=j+25



.  [image: image80.png]


.  [image: image81.png]r=j+53
r=(5)+53

r=104



.  [image: image82.png]s=2j-1
s=2(51)-1

s=101




REF:
060326a

